Q.P. Code - 13233

Second Semester B.Com. Degree Examination, September 2020
(Non-CBCS - Revised New Scheme)
Commerce
Paper 2.5 - MARKET STRUCTURE AND COST ANALYSIS
Time ; 3 Hours] IMax. Marks : 80

Instructions to Candidates : Answer should be written completely either in English or in
Kannada.

SECTION — A/ - @

Answer any TEN sub-questions. Each question carries 2 marks : (10 x 2 = 20)
iR mIEs.e B8y evS-Z8Non evgdl. 33 ewB-TBrie 2 wosrvd:

1. (a) ‘Whatis pricing?

U dopard aotderd? Sroe Siddagann Collegs of Aris
Soioncs 4 O Lnmerce for women
{(b) What is skimming price? A v TUWMKUR.

Lo Pais

AdyorF aded somdema?

{e} State the various levels of demand forecasting.
weld SnaRutoD 225 ur’ﬁﬁ#ﬁi BE0N

{d} What is production function?
PUEHT FIO0F HoTTeRI?

(e} ~What is Giffen paradox?
RPEs DUy aondesu?

(fi ~What is perfect competition?
Sbaprer ddpetd sotder?

g}  What is monopoly?
MEﬁd%n agjﬁﬁra aodesa?

{h) Define marginal revenue.
hezmod esorodbaa) ma;;m%ah

(i) What is capital budgeting?
womzed wabd ol Hordedy?
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i)

(k)

(1)

A project requires an investment of ¥ 1,50,000 which yield an annual cash
flows of ¥ 25.000 for a 9 years. What is pay back period?

womy oleesdold T 1.50,000 S088 Hﬂuﬁdjﬁz_ﬁ)ﬂ Jar % 25.000008 O Sdeny wy
By =0a) AeEd. vud wermY DTHTITS VIO For) LBV,

What are explicit costs?
=33 Sundondesy?

What is demand forecasting?
el Mﬁqmw woddery?

SECTION ~ B/ 2 - 8

Answer any THREE guestions. Each question carries 5 marks : (3 x5 =15)
WRFEenits Suet 3NN eugds. I8 TBrie 5 wosrid:

2.  State the law of variable proportion.
waenrd ZERmRD dabm $92.
L

3. Explain the various objectives of demand forecasting.
weBdol mﬂmm 2y m}dgfa'ﬁ%fidi DIDA.

4.  Briefly explain the various features of the perfect competition.
Ibaper & dpetiab dag OF eriv'al ZosZ e HZbh.

5.  From the following data, prepare a cost schedule showing :

TFC, TVC, AFC, AVC, AC and MC of a firti.
Output (in units) : 6] 1 2 3 4 5 6
Total cost in [3) ¢ 200 240 275 295 310 335 g6

BL00T Snkiobod 8 S@ﬁ‘ota‘@ﬁ%’ﬁ.a ﬁoﬁmoja dﬁuﬁﬁm.}q_ 3ReDY:

TFC, TVC, AFC, AVC, AC 3 MC,
WHROHE (obadtrnvd): o 1 2 3 4 5 6
by 328 (3] 200 240 275 295 310 325\ .365

6.  Compute trend values by the method of least squares

Year |

2014 2015 2016 2017 2018

Sales (% in lakhs) : 60 80 70 90 100
303, Srie DT, eRBOR 3 APey v Bodd BB0D -

DEE

2014 2015 2016 2017 2018

SRTU (0. ognvd) : 60 80 70 90 100

i
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SECTION - C/ 2t - 3
Answer any THREE questions from the following. Each guestion carries
15 marks : {3 = 15 = 45)
odRRTH0L Faach FBALA sv3dy. B Z8M 15 vosriws |

What is pricing policy? Explain the various methods of pricing,
i) Aes ooudesh? 207 Y ARFDROOTOL SEsndd) DE0A

What is imperfect competition? Explain various types and features of imperfect
competitive market.

eTbdeer E,'&@aﬁﬂ 20E0eE? waing 227 Jgndh Sid) Uﬁﬂm‘h“ﬁq Sibw by

State the law of demand. Explain the law of demand with the help of demand
schedule. What are its assumptions and exceptions of law of demand?

eBgad JobBy 95 weBIoD RabIITY WeBd Jodecd 20N T Db
BT 23 BIONYR) 9%

What do yvou mean by economics of scale? Explain the forms of internal and
external economics of scale.

HTDLT 203 :;iod:lﬁﬁu odRTE)? Ho30T DI3) AR Mdﬁaﬁjrwa.l D30

Sony Electronics Co. Ltd. is considering the purchase of a machine. Two
machines M and N are available, each costing Rs.: 2,00.000, in comparing the
profitability of these machines a discount rate of 15% is used.

Year 1 Year 2 Year 3 Year4 Year s
Machine ™’ : 60.000 50,000 1,00,000 60,000 40,000
Machine ‘N": 20,000 60,000 80,000 1,20,000 B80.000
P.v. factor (year) : 1 2 3 4 .= 5
P.V. factor of Re. 1 @ 15%: 0.870 0 756 0.658 D572 0:497
Evaluate the proposals under : i:-,-f«.- Sirjdan VG olege of Arts
(a) The payback period and e : 'I i L€ 120 women

Rl AP A et
{b) The net present value and alse suggest which one of the two project should
be aceepted.
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FRER aﬁﬁgﬂ?‘d g0, & 20 uim:%r‘i%.*ﬁi ded o gFDAG. &3 abogy, T 2,00,000 o
M o3 N 202 H08) 003 er] 40, 8 aUE) 003Ny ORiposam.) spcdion de. 150
Amel goor) svmalachneand. e rvor WoHE aric oY B0 & Ded varmeEinl.

b= ol | Sae 2 =Sar 3 SEr =ar S

adbod, ‘M’ : 60,000 80,000 1,00,000 60,000 40,000
adiod, N’ : 20,000 60,000 80,000 1,20,000 80,000
WaEE 1 2 3 4 5

B¢ 150 mech adozny

mﬁg m% g 1: 0.870 0.756 0.658 0.572 0.497

& obogriva #Un 3Wsens Belabd RGOl 3 aipd aloend eI somd
$PobEARBE |

(a) Rodomes v=d o

(b) 039 = 3P, Sges




